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Instructions to Candidates

Read the following instructions carefully before you open the question booklet

Answers should be written only on a separate answer sheet

Write your Name and Roll number very clearly on the test booklet and answer sheet.

Write down the Booklet Question code in the appropriate box on the answer sheet

There are 50 questions in this test. All are compulsory. Total time will be one hour

Please follow the instructions given for marking the answers

For all the questions 1-50, shade with ball point pen on the choice of the correct alternative on the
answer sheet against the corresponding question number. Like this il

Since the time allotted for this question paper is very limited you should make best use of it by not
spending too much time on any one question.

Rough work can be done anywhere in the booklet but not on the answer sheet/loose paper

Every correct answer will be awarded one mark

Please return the Answer Sheet only to the invigilator after the test.
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1. Thetotal strength of aschool is 2200 students. If three fourths of them travel by bus to school, how
many studentstravel by bus?
@@ UueTeflufed LUTEYD 6WDNGS LomevuTauTaerfleir elevoTetllgens 2200. @eubHMIST BB eLPeSTM)
ugdulen ueteflad CumBDHEL SFeodetimenti eeufled GLBBHEL 61F6OEYILD LDMETOTENITS6TT6DT
6TEUOTEUOTEH6WE  6TEUCUEITE?

a) 1650 b) 1810 C) 1640 d) 1622
2. If the length and breadth of the rectangle are doubled, then its perimeter is
a) tripled b) doubled ¢) halved d) four times

6\FeUeuSESH6EoT [BeD OHMID DSHEOD GBLOLMISTETTED N6 SHDMeNTe)
a) (WLDLDLMBIG b) &mwLhisTED C) UTHWNS GSeWOWLD d) BresIE LDLMISMTGLD
3. Thediameter of acircleis7.42 cm. Itsradiusis
7.42 ew.1b. efliLupeter @ QILLSSHET LT eTedTETIONTS BHSHSLD?
a) 3.71cm b) 3.76 cm ¢) 376 cm d) 0.376 cm
4. The population of avillage is 1000. One fourth of them are children. Find the number of adults?
@ SmbsBed Spulmd GUIT USGBDMTSHET, HOUTHEHET BTN @ LUGSHUNDTT GSLHEDSHSH6IT
elevfleo  EWflweurigerfletr  erevoTevdilGHemaHem  &HM6vTS
a) 850 b) 750 c) 800 d) 700
5. 1f 200ml of milk isrequired for achild, how many litres are required for a class containing 40 children?
RH GLHMSHS 200U- umed CHmaIILIGSME ereflled, 40 GLHEDSHHMETE CIHTEWIL 6(H
QAGLULMNES 615HM6 -LLIT Lmed CHemeuliLBLD?
a) 5litres b) 2 litres c) 8litres d) 7 litres
6. Salimhas3iron ballseach weighing 4kg 550qg, 9kg 3509, 4kg 250g. What isthe total weight of all the
threeiron balls?
FOOILLD QBHHGD 3 @m0y ubgseilst eenL wpedpGw 4 HGom 220 Hymb, 9 HGom 350
&gmb, 4 HBeom 250 Hgmb. Gepetim LbHSHIS6Tl6N 6IDNSHS 6TemL  eTeuaeTe)]?
a) 18kg 150g b) 19kg 3509 ¢) 12kg 150g d) 18kg 100g
7. What isthe placevalueof ‘8 in 80004570?
80004570-60 8-601 QLD wWng)
a) 800000 b) 8000000 ) 80000000 d) 8000000000
8. Jesi likesto do maths problems as quickly as he can. He can do 15 multiplication problemsin one minute.
How many multiplication problems can Jesi do in 8 minutes?
OndeEe sawflls LUTLSHD Dpiald AHPHsD. Jevenme @Cr BUILSHD 15 CILIHSHHED SHEWISHEHENET
GuUML® efiL apruid eresfled e1i@ BUlLmisefled eIFHemen SHewra@GssT GUTL wLplQUD?

a) 130 b) 132 c) 120 d) 111
9. 123456x 15=7
a) 1851891 b) 1852942 ¢) 1851840 d) 1853511

10. Find the number of days between 12" January 2004 and 7" March 2004
2004-1b Spevoriged Revraufl 12-10 C5PHSHGID, DMTE 7-1D CHHHGD BEOLLLILL [BILE6T 6155606017

a) 72 b) 54 c) 68 d) 70
11. Which organelleis called asthe ‘ Suicidal bags of the cell’?
a) Mitochondria b) Chromosomes ¢) Ribosomes d) Lysosomes

61F6L-60T 61hF LGSHWLNEH SHOHMTENeD eMLSET 616 AHeWPSHSHLILGESI?
a) @emLpLoewfl b) &CrnGwonGambaser c) ewgCUTGHTLDEL d) emeoBanGamben
12. Bio Medical wastes can be removed by
a) Landfills b) Incineration ¢) Composting d) Recycling
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LDIHSGIEUMETS SHLIQUSHEDET IHSHOMOUSNS DD (LPDD WITG)?

a) Yens5560 b) emfleyGsev C) 2_[IDN&E&SS60 d) bmispHd QFUIged
13. Deficiency of Vitamin D leadsto
a) Rickets b) Infertility c) Beri - Beri d) Anaemia
EOEILLLAEHT 1o GSEMOUMLLTED 6ehg Ghmil 2 6urLndms)?
a) etegibLy GrBmul b) wevLBEGetTENLD ¢) ewrfl-ewirf d) 85 Genens

14. Who discovered the AIDS causing virus HIV ?
a6 GBEMSE SHNIewIDTen 6156l meuTens SHeTTLMIBESEUT WITT?

a) Alexander Fleming b) Louis Pasteur ¢) Robert Gallo d) Roentgen
15. Sl unit of lengthis
a) metre b) kilometre C) centimetre d) millimetre
BensPett Sl Dievd 611?
a) B b) 8GeombBrLit C) e\gemieLbLLIT d) eo-ScLm
16. The method of seperating lighter particles from heavier particles with the help of wind is called
a) Seiving b) Decantation ¢) Winnowing d) Sedimentation
snhpleir cpeold sreflwsS-mHgs LUsSDT LNMSOSEHGSID WD eTeuaIn) HDPSSLILGSDSI
a) -5 60 b) @migzeo C) gnbmizeo d) egefiu eweuggeo
17. Which of thefollowing isan example for non-biodegradabl e product?
a) paper b) cloth ¢) polythene bag d) fodder
D&&TS S6UsES aTBSHHSSTLG 61517
a) sndsLd b) giewfl C) um-gSen ewu d) sewipaeit
18. Local Self government wasintroduced in India by
a) Lord Ripon b) Lord Dahousie c) Lord Cornwallis d) Lord Canning
Spdwnefleo 2 _etenmidl JITFEOIOLIL (pewDenW CHmDmIeAFHSeuT Wimi?
a) fiduesr 9oy b) Levaeydl oy C) snpetieum-ev  19gy  d) smevfir Aoy
19. The 24th thirthangara was
a) Buddha b) Adhinathar ¢) Mahavira d) Siddhartha
2461 SNHSHRISIT WTAT?
a) Usai b) SLBmnsn C) wa el d) fsamisn
20. Which one among the following imagesis printed on the flag of Pandyas?
a) Fish b) Bow & Arrow c) Tiger d) Lion
unevorieuITgeflest G\smeuied 6Ibg 2 (Heud EUMPIGSLILILIQHEESLD?
a) LBedr b) efled, by o)y - d) Amusid
21. World's deepest Mariana Trench is located at
a) Indian Ocean b) Pacific Ocean ¢) Atlantic Ocean d) Arctic Ocean
2 eodeir W& st AlmeTm NS 6HS CIIBHMRISHL-60 HEDLDHSI6TENEI?
a) @S OWLIHHISLED b) udls QUHBHISLED
C) SiL6OMewTs  6ILIIHMAISHLED d) iMed  EILIBRIGLED

22. The unit of currency used during Rig Vedic Period
e Geug &HmevsHed LIWLSTUGSSLILILL [BITEWILILD 6187
a) Nishka b) Rupaa c) Dallar d) Dandri
23. Which planet iscalled as*Morning Star’ ?
abs Susneng efligaausitefl el6T HEMPSSILGEDSHI?
a) Mercury b) Venus c¢) Earth d) Mars
24. Name the tree used in paper industry?
&Mdgs 2 MHusHSuNd LWTLBSHSILGD DI 6187
a) Teak b) Eucalyptus ¢) Coconut tree d) Sandal wood tree
25. The process of converting the raw materialsinto finished product iscalled as
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a) Production b) Consumption ¢) Digtribution d) Trade
eLPEOAILIMIHL&6T, SWMLILS6MTS WDIHOD UMD (PeDM  eTeNeNTn)| HeWPSHSLILGSEDS?
a) 2 huss b) msiey C) udigeo d) euigzeLd
26. Who acts as the President of the District Planning Committee?
a) Didtrict Collector b) President of State Planning Commission
¢) Mayor d) District Panchayat President
et SULsGSWellelT Semeoaunns EMMILIL| euSLILeuT WImi?
a) el Sprdwir b) bnBeo SrL sfegesfllsit sHemeveurt
C) Gwi d) meu'L UEhFTWISSE Heweosurt

27. Which among the following isanatural fibre?
SpserLainnled SUIHEns: Qewmp WNG?
a) Jute b) Rayon c) Nylon d) Polyester
28. The objects which does not alow light to pass through them are called
st aufiCw @efl 2BEHer HDSHSHNFH CINHLSET 6TUNTN HeWLPSHSLILGSetTmET?
a) Transparent objects b) Opaque objects c¢) Tranglucent objects  d) none of the above
29. Perimeter of the rectangle, whose length 5 cm and breadth 3 cmis
Berb 5 61&.15. HNID iHeod 3 6O1F.L5. 2 6T O\FeUUSBIHHET SHDMETENeMers: HTETIIEH
a) 15cm b) 16 cm C) 24 cm d) 32cm

30. A farmer wishesto fence hisfield with 3 rows of wire. If the dimensions of the field are 120 m by 68 m,
find then total length of wire required?
@wm eleusmul sipg Beosems &I apeod 3 euflews OsmetorL swiluimed Geau-uilL  eflgpLbL o
BeodBesr Her, seomuigeT wWempGw 120 15 whHmidb 68 15 eaefled BeosSne Geu-ulL ereusuene)
Berpeter S CgHemeu?
a) 1185m b) 1182m c) 1128 m d) 1125m
31.Who has won the 2015 Nobel Prize for Economics?
2015-1b SpetongedT QNBETTSTISSDSTe GHMUed Ufle: WNiH&S QUPHISLILLLS?
a) MaaaYousafzai b) Kailash Satyarthi ¢) Youyou To d) Angus Deaton
32. According to latest tiger census report (2015), which among the following states has recorded highest
number of tigers?
2015-1D DHLEWIIQEST L|-&6iT  eTevnTennllsens sHewrsasGLLI6LY BbHuwineiles ebg DMBe0SS60
L-&6T P& sSmewriLGHesTment?
a) Madhya Pradesh  b) Karnataka ¢) Tamil Nadu d) Keraa
33. Who was the first President of Independent India?
&HHAT DHHWINeledT (PFHEL GQWITHSH SHEMEOEUT WIMT?
a) Pandit Jawaharlal Nehru b) Dr. Rajendra Prasad
¢) M K Gandhi d) Bala Gangadhar Tilak
34. Which isthe capital city of ‘Nepal’?
GBUNET [BLIQEN FHENEOBSILD 6157
a) Kathmandu b) Beijing c) Tokyo d) Sendai
35. Whichisthefirst country to accomplish successful Mars mission in first attempt?
S6ug (WPpsev PpwhHAuICBW AFaiauTl SIss5SMH& OUDMSIDTS O&WDhamss CHTener 6FaSSWL
Br® 6157
a) India b) USA c) Russia d) China
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36. Long walk to freedom is an autobiography of
Long walk to freedom eretruigy wimgpemwLw swisfens?

a) Amartya Sen b) AbrahamLincoln  ¢) Nelson Mandela d) Mahatma Gandhi
37. Headquarters of International Court of Justice is located at
uetTeoL(®  [BASTNSH6NT FHEMEOEMDUISBLD  6IMBIGETENS)?
a) Geneva b) The Hague c) Paris d) London
38. Whoiscalled as ‘Lady of the Lamp’?
‘oaellonsCabIL SMflews’  ETTMENPSSLILILLONT WIMT?
a) Benazir Bhutto b) Suu Kyi ¢) Mother Teresa d) FlorenceNightingale
39. Who discovered Pencillin?
QIS -emenT  HETOTLMBSeUT  WITT?
a) James Watt b) Roentgen c) Alexander Fleming d) Edward Jenner
40. Which wasthefirst full length talkiefilm released in India?
Spdwnefled wWpseiipg-60 Ceuefiwmen wppBer GU&ID UL e18?
a) Alam Ara b) Mother India ¢) Raja Harichandra d) None of these

Directions (41 & 42): Inthefollowing two questions find out the alternative which will replace the question
mark.

41. Temperature : degrees:: Time: ?

a) Distance b) Clocks ¢) Seconds d) Litres
42. Muslims: Mosque:: Sikhs: ?
a) Golden Temple b) Medina c¢) Fire Temple d) Guruduwara

Directions (43 & 44): Select the word that is most similar in meaning to the word in capital |etters
43. VALUE

a) Good b) Price ¢) Worth d) Number
44. HILARIOUS
a) very smart b) very funny c¢) very small d) very large
Directions (45 & 46): Identify the one that does not belong to the group
45, a)Asa b) Africa c) Europe d) Brazil
46. a) Rice b) Pork c¢) Chicken d) Beef
47.1f '+ means‘x’, '~ means‘+’, ‘+ means‘+ and ‘x’ means‘-’, then what will be the value of
16+64-4x4+3?
a) 31 b) 25 c) 15 d) 20

48. Inacertain code 2iscodedasP, 3asN,9asQ, 5asR, 4 asA and 6 as B. How is 599423 coded in that
code?

a) ElIDBC b) PQPANB c) EIMDBC d) RQQAPN
Directions (49 & 50): Find the next number in the series
49. 360, 180, 90 ?

a) 60 b) 45 c) 52 d) 30
50.5,11,17,23,?

a) 29 b) 27 c) 32 d) 31



